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* Teaching briefly

Teacher:

 What is depreciation?

* Classification of capital expenditure
and revenue expenditure

* Calculation methods of depreciation

Students:

* Finish Pre-class test

e Watch related videos

12H2HE=
Pre-Class Test _ Depreciation of it
Non-current assets
Instruction:
1/ Each guestion just answer at
ONCE
2/ Read the question before answer

docs.google.com

https://docs.google.com/forms/d/e/
TFAIpQLSdUOza6MYpwOUUKKIi94
L20SYXgDPLTWILVIOXXHXHL7MG5
EoA/viewform?usp=sf_link
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Teacher:

* Find out the questions in which students performed poorly (Pre-class
test)

* Cap screen
* Prepare a name list for ticking students who got correct answers
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Teacher:

* Brief revision (Questioning)

* Show the questions in which students performed poorly (Pre-class
test)

* Try to find some students who got correct answers to explain the
qguestions
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Browny Cafe purchased coffee machine on 1 Jan 2017 for $400,000 from ltaly.

oo x( | - 40%) w40
The price included shipping expense $20,000; installation cost $30,000 and two ™
years maintenance contract at cost of &__ - 7 3 ‘P({,a

LARE .
The equipment had an expected life for 4 years and a/residual value of $45000> %{W K( , ‘ 0%)
&lboo—4€%60-27376
The depreciation policy is calculated depreciation at 40% per annum on a - 5({’0;' [36‘”0 5

reducing-balance method. ? ? 6 4 <$4' J.. 0D
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Teacher:

* Online learning exercise for checking understanding of each concept

e —— recation cacuation

Online Learning Exercise _

Depreciation calculation 1

Theory =

Instruction: — Instruction:

1/ Each question just answer at = . :

ONCE 1/ Each question just answer at

2/ Read the question before the answer it ONCE =

docs.google.com

2/ Read the question before answer

https://docs.google.com/forms/d/e/
docs.google.com

1FAIpQLSfvCXLdnXQPmMcR7XNILo3
bKO-

PNPUUbFhIBCCFPSFUXIUZSVA/ https://docs.google.com/forms/d/e/
R // 1FAIpQLSecfzwNEarnkDoRIQhiv-

S5 of RECdpecaE) Ws5a3cpH3I5ynTph5X9P06226sB
B, wjviewform?usp=sf_link

2/ Read the question before answer

docs.google.com

Deprecation Calculation 2

https://docs.google.com/forms/d/e/ Instruction:
1FAIpQLSesemYjGGNxop- ; :
Y8Wfh1iYRprEqL Qeno5dxljmiwn- 1/ Each question just answer at
XpoJxw/viewform?usp=sf_link ONCE
e 2/ Read the question before answer
Captialised Cost Calculation - docs.google.com @
Instruction: ==
1/ Each question just answer at —
ONCE —e https://docs.google.com/forms/d/e/

2/ Read the question before answer

1EA NN QfNlenRH2~1 ZKNNAANGHAH

docs.google.com
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Students:
* Two devices are better (1 for zoom and 1 for whatsapp)

Teacher:

* Cap screen

« =2 Show the questions with good performance - Teacher directly
states the trap (difficulty)

2 Show the questions with poor performance = Leading students
to explain by themselves
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Teacher:

* Repeat the cycle
* Briefly teach double entries of depreciation and disposal

AN
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e After the lesson...

Teacher:

- Send the Post-class Test to students e e
This one is a difficult depreciation

- Send the next Pre-class Test to them MC question. Pls take a look.
- Send the difficult questions with Post-Class Test_ Depreciation
of Non-current assets
explanation to them |1rJ:5F;'{.;Lcir!;1ti‘irll:‘.s’(huﬂ just answer at
ONCE

: SE 2/ Read the question before answer
Pre-class Test - Double entries of drepreciation : c &
- docs.google.com

ol LTS LA ol T =F Ol & S T

hefore answe https://docs.google.com/forms/d/e/
docs.google.com TFAIpQLSeJyv3AGOcCirMT6gt--2r

7QimPzsgvewdgDMQ6iji5dShhGRg/
viewform?usp=sf link

wmPybsHInLCDFDg/viewform?usp=sf_link o T



& My Drive - Google Drive ® [ 04-12-20201 Pre-Class Test_ X =

C 8 docs.google.com/forms/d/15480iBx3H7IKxPZb2poWd2FAHVXTDtbOvgkBlvdk9eUQ/editrquestion=313155437&field=328651933

= EESE & VIEFEl @ Whatshpp © BEFE-ZEEFE @ BAFS resource
Summary Question Individual
2. Chan Company acquired an office . lized cost of an office premise as -
L4 g of 13 >

2. Chan Company acquired an office premise of $500,000 (not
deducted a trade discount $50,000) and paid the following
expenditures: Chan Company should record the capitalized cost of an
office premise as

Hide options A

Expenditure items- 8
Monthty management fees 1,500+
Decoration expense” 00,000+
Sales commission to the property azent. 30,000
Legal feer 2,000+
Annual fire insurance- 13,0004
(® $592,000 V4

() $500,000 X



double entries common mistakes - Word
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Paper 1 Unit 1 Double Entries (Common Mistake) (File 1:P.3)+

(PPO%)Which of the following transactions would have the same effect
on the balances of asset and liability of a firm?

Hide cptions =~
recaiving & cheque of 51200 from & customer b4
recening & loan of 32500 in cash, of which 5500 is used to pay rent on the proprietor's residence b4

paying office expanses of 32000 in cash b4

@ buying office equipment for 51000 and paying the wendor 3 months later o

(1217)On 1 January 2012, Mr Tong set up a firm and brought in motor
vehicles of $2000, premises of $14 000 and inventory of $5000 to the
business. The firm borrowed $3000 frorm the bank to acquire a piece of
eguipment. Meanwhile, Mr Tong put $1000 into the firm's cash box and
$8000 into the firm's bank account. What was the amount of Mr Tong's
capital on 1January 20127

Hide options
%9 000 ¥
527 000 X

(%) 530000 '
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P re_c I a SS test Questions Responses @ Total points: 9
39.8%

19 responses

Accepting responses .

Summary Question Individual
[1] Insights
Average Median Range
3.58 / 9 points 4 [ 9 points 2 - b points

Total points distribution

sponderts
. [=:]



Post-class Test
66.3%

Average Median Range
7.29 /11 points 8 /11 points 2 - 10 points

Total points distribution

(3]
Count: &

it of responderts

2 .

, LN

i} 1 2 ;. 4 L 6
Foints scored
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* The result improved?!
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* Raise the interest of self-learning e e e

a look.
; SO0 A BARS ¢ miss, BAPH DD IEFFA
= Ri{% adj.exp.+3150 » {B{% 2 BIIE (R

Build up the ownership of knowledge L ettt

depreciation MC question. Pls take

@ look. Overstated =31 Z A
TRAERE Understated=514 %

Overstated =+ 2 &
Understated=314 %

* Focus more on the difficult (special) points  masas oo e

& URE RS (HeET B
S REMER LR B

expenses understate Z $3150 Understated=5+42 %
Adjustment 3% [ £ %8 B Bf scenario 1% total

Total Exp Eincrease &$3150

Profit #i & decrease & $3150 expenses understate /$3150

Adjustment ;E %
° HH = . Total Exp Eincrease #&$3150
Teacher can become a facilitator e B Wadimert e B chosaoce e

Fﬁ)bl%%{?\ : BF2AE$3150 #EE 1% B adjustment

88 B B = profit BE impact (& d
FREAFRIIE adjustment NEE 2 1)
U5 A ZR 48 4 58 bafs, 5 —1fE topic FRAZ 2% : 5134 $3150
Y corrections of errors » K2 @
BHIENIE (adjustment), FRIAFER FHAFMIE adjustment R E

12 - R AR bafs, H—1E topic

Y



 Catering for learning diversity?

* May not fit all topics (financial statements)




